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LIZE Common First Revision Test - 2025
: standard 1;'2 sttks:70
: 3.00 Hours CHEMISTR
rime: 3 it g 1o
L Choose the correct answer: . :
inc is obtained from Zno DY ) _
. g;néa:?b%n reduction b) Refducmg ug‘ung silver
¢) Electro chemical process d) Acid Leaching
2) Inorganic benzene is _ !
) a) Di%orane b) Borazole c;) BQJ_E;X o d) Boric acid
3) Among the following the correct order of acidity |
‘ a) HC|82<HC|O¢HCIOJ<HC|04 b) HCIO, < HCI02<‘-(|:?(IZ)OE|H-{8133
¢) HClIO,<HCIO <HCIO,<HCIO d) HCIO<HCIO, <HCIO;- 4 "
; ; ions has the same number of unpaired electra

4) Which one of the following

s present in V3*7? _ i
:) '?'i-‘* b) Fed* c) Ni%* d) Cr3 5
5) How many geometrical isomers are Possible for [Pt(Py) (NHBL()ES‘;)S(CI)].
a) 3 b) 4 c)0 .

6) Agoms % and y form bcc crystalline structure. Atom X 15 presenlt atf il;e
corners of the cube and y is at the centre of the cube. The formu a_ of the
compoundis - |
a) Xy, b) xy, G) Xy d) X,Y

7) For the reaction 2NH; =N, + 3H,

d[NH;] dIN,] _ diH,] _C AN
dt = K][NH-;] ' —dl—:-" - KE[NH-‘] ' dt K-;[ _:J]

then the relation between K, K, and K; is
b) 1.5 K,=3K,=K; ©) K;=3K;=2K,

d) 2K, =K,=3K,

a) K, =K,=K; ; ; ;
8) Which of the following fluro compounds is most likely to behave as a lewis
- base? _

a) BF; b) pF, c) cF, d) SiF, .
9) The number of electrons that have'a total charge of 9650 coulombs is

a) 6.22 x 1023 b) 6.022 x 10¢  ¢) 6.022 x 10?2 d) 6.022 x 103

10) The gold number of some protective colloids are given in bracket which one

of these is most protective?

a) White yolk (0.08-0.10) . b) Potato Starch (25)

d) Gelatin (0.005 - 0.01)

¢) Gum arabic (0.15-0.25)
: Phenol is more acetic than ethanal

11) Assertion : P
Reason : Phenoxied ion is resonance stabilized
a) If both assertion and reason are true and reason is the correct explanation

of assertion
b) If both assertion and reason are true but reason is not the correct

explanation of assertion
c) Assertion is true but reason is false

d) both assertion and reason are false
Which ‘one of the following reaction is an example of disproportionation reaction

a) Aldol condensation b) Benzain condensation
c) @.jjoth (a) and (b) d) Cannizaro reaction
13) Which of the following reagent can be used to convert nitrobenzene to

12)

aniline

a) Sn/HCI b) Zn.Hg/HCI c) Zn/NH,CI d) all of these
14) Sorbital and Mannitol are i )

a) enantiomers : b) tautomers

c) epimers d) Functional isomers

15) Drugs that find to the receptor site-and inhibit its natural function are called
a) agonists b) antagonists
c) enzymes d) molecular targets
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II. Answeranyodt _
16) Give the basic require

Writea 5 nol
18) What are the characteristics O

19) Distinguish Lewis acids an
20) what are the applications ©

17)

21) Whatis metamerism

22; How will you prepare Ethylacetate from methyl acetate

23) What are antibiotics ) _ o 7.5 7% 10-3 mol
24) The rate of formation of a dimerina second order reaction lhe S ennstant

II. Answer any 6 questions.
25) Write a note on Fisher

26) Give the uses of Helium
ith an example

27) Whatare hydrate
28) Explain the types of molecular solids

28) Give the differences between or
30) Describe adsorption theory of catalysis

31) Explain the reducing nature of formic acid

32) What are reducing and non-reducing sugars

33) Identify A, Band C

34)

35)

36)

37)

38)
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PART-1IV
IV. Answer all the questions. 5x5=25
a% ?ngin zone refining process with an example - (OR)
i ive a reason to support that sulphuric acid i
ii) What is inert pair effect? i ek e s e
a) Describe preparation of potassium dicromate
- . O
b) :1)) ‘ghat is crystal field stabilization energy .(CFSE) (O8)
‘ ive one test to differentiate [Co(NH,);CI]SO, (C
a) i) Give any three characteristics of ioniaé)gry?stalg Veliiiiohs 5210
ii) A;;mln_mm crystallizes in a cubic close packed structure. Its metallic
; radius is 125 p.m: Calculate the edge length of unit cell (OR)
) Derive the ln-tegrated'rate law for a first order reaction
a) i) Differentiate physical adsorption and chemical adsorption
b) t& _;Nrute at note on catalytic poison (OR)
rite @ note on (i) Riemer Ti sacti ii ~
i) coupling reaction r Tilemann reaction (ii) Phenolphthalein reaction
a) :?) i—idoev:‘ ;Rl g:; prepare malachite green from benzaldehyde
pounds A, B and C in the following sequence of reaction
CHN,Cl—SEN o RO 5w C (OR
b) i) Write the Zwitter ion structure of alanine ]
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PART -III _
Q.No:33is compulsory. 6x3=18
Tropsch synthesis

isomers? Explain W
with an example

der and motecularity of 2 reaction

i) E :
i) Explain the mechanism of cleansing actions of soaps and detergents
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